(BrrH= *

F|jER g
Y OB 947

YLEJIy 387 * =18 7 i R B (5

P E U

Hepr:

201341 H 9 H

P B
IS T LR )

SRS AT e

¢ ﬂ%wﬂ’?ﬁ/ﬁ IR CETPEYD ) ATA3.25A fE s BTSN A

BN ER TR

L '
o SUEE R - = (R ETEY 3 (R
55 ARG R LS S _? N
i TEEErE! RIS A Ry g1 Jﬁ&qﬂ fiEy ENE] ;F &@(pm )
oD NI R 5" (0

(i 456K 7)

T S| VSR R o

?0122)¢ 12131 807,819,844

NIl

- EYT 825,000 0.102127% 0.3946 Hi 7 0.92 ¥ 7 P78 57.11%

j:‘:”201?':331F-J7 Eh”?igln (“—dﬁﬁ‘03208ﬁ (2013 # 1 k| 4 I

2008 F Fi-% AL & i N AL 11 )

AR 3 5 1235) M

F 3)

BTN

- EiT 330,000 0.040851% 0.3946 {7 0.89 {7 P78 55.66%

#2013 ¥ 1 1|8 [ 17l (*E+Jﬁf°éfOf«:2087“m (2013 F 1 F| 7 [I

2003 £ ¥ 2 iR & ML T G P18

EE%@P [EYE [/quljj

1. 23[7%




PR A

jﬂ FIJ
15”2013 159 [
2003 .’:F}" By \r Jﬁé HIJ -l
%ﬁ%pjéﬁﬁ V’ii&m

264,000

I VHER PR A
2013@1)%%%

(7 8)

809,238,844

0.032681%

0.3946 #7

( M A% 0.3208 T
AR 6T
1 23[?%

0.89 Hf

(2013 = 1
BTIED

F1 8}

% 55.66%




L aes SR I Tal

| AR

=

w ™

L FT) Gl I TR T RS J T S

T EYEE (FpRY) STAB25A BEIE f T) A  FEYE (FfPR) ATI3.25B SRR - 5 TR S (TR H AR i I -
MR TESR (1 2PH)) STI3.25A [yt~ 8 e f AT - Gl IR IR o S [T IR £ AR AR L P g A g
Z [ Y o P17 < P B EGR~ TR ] 7 TR Y~ A Ty SR TRORELT o SRR AT el R
Ry » E PIEGRTAETIE 5 R 51 7 S FGRTay i R B Ty 2 30 7 » I 757 B A«

TG A TYPIF L R R I TR A KA I AR (R O T = A ) A
[Pt - A AT ARL 57 T R 5P [ -

YLIJN T+ IR BRI o Ff T AR IO B 7 JEEIEET "I [ RIS 1o el 7
U 7 W

Y e -

o TR R T R

] Fel g I F{ﬁ&/}’/‘g‘f/;*fﬁf/ﬁ/? L/égl_?ggif/]}j_zj 7?’%'/&7"_@;? TRl 17 [ [ 1, ///57/'/[75/,?:/‘5‘/ L/ﬁ/:‘?%}'if/jj,/_ij o
Y 7 v ! ! /

I

TR R TR R

LRI A A U 1 S T [ I R I o

~ TR BT T T -

RS [ AT e AL 0 R -



S A T

A. Eé[fﬂiﬁf[
T Rea R 5 BT ! e il = B B [ i A
=) (el ekl fjt (AR) (##5) (##-54)
"G
ok
B. Fﬁ pAFFTEL Y- BTl BOpvEE i PO PR
L FEE ala(a Flﬂ?%%iiﬂw ) TR PSR 5 PR (a) 398,000

2. FIRBLRSHE T e I BRI S B S 9 1) 0.0499%

/

((a) x100)

797,707,844
S > £0 AT F1 & PYE S ORISR CHPPHID PGB s > iyl ©pIe pure] 0 201200 HIASH Fgivify i Fi 2o (i~
B - 5 PTH G+ A b % PP RIS » KLU s B © TR -

WAIERE < PP € BT bd= F55 € P (T B £77) ~ JJ A S PR = el 2 P =8

(i £)

W2
(B~ Rl (T s * )

lm;_t



